JORDAN UNIVERSITY OF SCIENCE AND TECHNOLOGY j/
Chemistry Department

General Chemistry 103
g ~ .. . .First Exam o
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Constants : Akogaﬁro 4 ndmbex'*"é @2}(1\02 | ‘ ) l / ! \} jl ’s 10
1 2
H C He
1.0 4.0
3 4 5 6 7 8 90 0
Li | Be ' B|C|N|O|F/| Ne
6.9 | 9.0 10.8112.0]14.0|16.0|19.0| 202
i e 1214 15 | 16 | 17 18
Na | Mg Alf Si| P S |Cl| Ar
23.0 | 24.3 27.0§28.1 [31.0|32.1|355| 400
19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K |Ca|Se|Tj| V |Cr|Mn|Fe| Col| Ni Cu|Zn|Ga|GejAs | Se | Br | Kr
39.1 | 40.1[45.047.9 | 509 | 52.0|54.9] 559 | 580 | 587 63.6 1654 |69.717260749| 79 |79.9] 83.8

. _ Choose the most correct answer A
How many moles of MgO are produced by reaction of 3.82 g of Mg;N, ( molar mass = 100.9
g/mol) with 7.73 g of water ( H,O )7 : Mg3iNs + 3H,0 — 2NH; + 3MgO .
A) 0.114 B) 0.0378 ; C)0.429 D) 0.0756

({ How many oxygen atoms are there in 2.74 g of Al(SOu4); ( molar mass = 342.3 g/mol ) .
A) 12 B) 6.02x10% C) 7.22x10* RS 78x1022 y
;

=

@ﬁ- The percent yield of SF in the reaction below is 79 % | Calculate the mass ( g ) of SF¢ 5% / V\f\ p{ L O~0
if 7.9 g of F; reacts with excess sulfur (S): 5+ 3F — 8F: f& "’ R'%

A) 30 B) 10 /C) 8.0 D) 24
%ﬁa& (ijS[thc volume in milliliters of 5.0 M HCI solution are required to prepare 250 mL 0f 0.20 \ ('\

A 10 B) 15 C)5.0 D) 50 L
Ahich one of the following numbers contains 6 signifigant figures ? //—
: A) 0.00370223 B) 01.0037 C) 2000.00 D) both A and C

/(How many atoms of hydrogen ( H ) are in 32.0 g of CH,0 ( molar mass 32 g/mol ) ?
A) 21.3x107% B) 2.40x10* C) 4.00 D) 1.88x10%

~7- What mass (g)of NO, can be produced by combustion of 43.9 g of ammonia (NH3) ?
4NH; + 70, — 4 NO, + 6 H,O -
A)2.58 B) 178 G119 D) 0.954
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Aculaﬁe the mass in grams of AIBr; needed to prepare 5.00 x 10> mL of 0.300 M AlBr;
solution ( molar mass of AlBr; = 267 g/mol )

A) 80.1 B)40.1 C) 267 D) 134

9- What is the volume in liters of 0.250 M HNOj; required to neutralize a solution prepared by
dissolving 17.5 g of NaOH in 350 mL of solution .

A) 50.0 B) 1.75 C)044 D) 0.07

Y(Phe numbers of moles of K™ ions in 200 mL of 0.20 M of K580, solution .
A)0.08 Bi0A0 o 4 QY004 3 Bpg

4’( Which one of the following is the highesr temperature ?
Ay x92°% B)5.0 F C)251 K D) 0.0 K

J/How many significant figures shoud there be in the answer to the followin
(302-21.0)(1.89x10°)x 139

A) 1 Bj2 Bl D) 4
@h(e value of 320 ft/min? is m/s*, (1f=30.48cm)
)

g problem ?

3.5x10’ B) 5.58x10° C) 1.63 D) 0.0271
- All of the following elements are metalloids except :
A)B B)P C)Si D) As

’V/Use the following information to identify the atom or ion .
Mass Number = 16 , Neutrons = 8 , \Eleétrons =490

A)S% B) O o A0 O Ve a T T Nele o
Achemical formula of phosphoric acid is H;PO,

_ - The formula for the compound
formed between aluminium ions and phosphate ions is :

Vy (PO B) AIPO,; C) Al(POy); D) AL(PO4);
- All the following are molecular compounds except which is ionic .
a) POl B) SOCl, ) C) CaF, D) AsH;

18- How many grams of oxygen atoms are there in 76 g of C3H;»0; ( molar mass =
A) 18 B) 29 9.0 D) 36

],Q/Argon (Ar) gas has a densit
200 mL of argon gas?

A) 9.4x10% B) 3.4x10% C) 4.2x10”

68 g/mol ) ?

y of 1.40 g/L at standard conditions. How many argon atoms are in

D) 3.0x10%*

2'6/H0w many moles of GeHy are needed to form 8.00 mol of GeFsH according to the reaction -
GeH, + 3GeF; — 4GeF;H , if'the product is obtained in 92.6 % vield ?
A)6.5 B) 2.00 C) 8.64 D)2.16
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